
HARDWARE LISTIN(j 

812 SCREW, 1/4-20 X 1-1/2 knurled socket 1203 SCREW, No. 8-32 X 7/8 Pozidriv fillister 
hd. (chrome) hd. (Grade 2 steel) 

813 SCREW, 1/4-20 X 1-3/4 knurled socket 1205 SCREW, No.1 0-24 X 3/4 Pozidriv fillister 
hd. (chrome) hd. 

852 SCREW, 1/4-20 X 1 knurled socket hd. 1309B SCREW, No. 10-32 X 1/2 Phillips Truss 
853A SCREW, 5/16-18 X 12-1/4 knurled hd. (self-sealing) 

socket hd 1311A SCREW, No. 8-32 X 1/2 Truss hd. (self-
854A SCREW, 5/16-18 X 2-1/4 socket hd. sealing) 

(Grade 2 steel). 1357W SCREW, 1/4-20 X 1 Phillips oval ctsk. hd. 
854 SCREW, 3/8-24 X 2 knurled socket hd. (stai nless) 
855B SCREW, 3/8-16 X 2 knurled socket hd. 1601 SCREW, No. 8-32 X 1/2 Pozidriv flat ctsk. 
856A SCREW, 5/16-24 X 1 knurled socket hd. hd. (Grade 2 steel) 
857A SCREW, No.1 0-24 X 3/8 knurled socket 1602 SCREW, 1/4-20 X 3/4 flat hd. (Grade 2 

hd. (black) ste'el) 
860 SCREW, 3/8-16 X 2 knurled socket hd. 1610 SCREW, 5/16-24 X 1-1/2 Pozidriv flat 

(black) ctsk. hd. (Grade 2 steel) 
864 SCREW, 114-20 X 7/16 socket pan hd. 1611 SCREW, No. 10-32 X 3/4 Pozidriv flat 
866 SCREW, 5/16-18X 1-1/8 knurled socket ctsk. hd. (Grade 2 steel) 

hd. 1614 BOLT, 1/2-20X 1-1/2 hex. hd. (chrome) 
867A SCREW, 1/2-13 X 3-1/2 knurled socket 1643 SCREW, 7/16-14X 1-1/4flatsocketctsk. 

hd. (black) hd. (w/lockpatch) 
868 SCREW, 1/2-13 X 1/2 socket button hd. 1719W SCREW, No. 8-32 X 5/8 Phillips truss hd. 
872A SCREW, 1/2-20 X 3-1/4 knurled socket 1783 SCREW, 5/16-18 X 7/8 Pozidriv flat ctsk. 

hd. hd. (Grade 2 steel) 
875 SCREW, 5/16-18 X 1 knurled socket hd. 1795A SCREW, 1/4-20 X 3 socket hd. (Grade 8 
882 SCREW, 1/4-20 X 7/8 socket hd. (Grade 8 steel) 

steel) 2003 SCREW, 5/16-18 Xl Pozidriv pan hd. 
883 SCREW, 3/8-16 X 1-1/4 knurled socket (Grade 2 steel) 

hd. 2005 SCREW, 3/8-24 X 15/16 Pozidriv oval 
884 SCREW, 1/4-20 X 7/8 knurled socket hd. ctsk. hd. (Grade 2 steel)(chrome) 
891 SCREW, 1/4-20 X 1-3/4 socket hd. (Grade 2216W SCREW, No. 4-24 X 1/2 Phillips oval ctsk. 

8 steel) hd. (self-tapping) 
904 SCREW, 114-20 X 7/8 hex washer hd. 2339 BOLT, No.1 0-24 X 3/4 hex. hd. (Grade 2 
907 SCREW, No.1 0-32 X 7/16 Pozidriv steel) 

fillister hd. (w/lockpatch)(Grade 2 steel) 2401 SCREW, No.1 0-24 X 5/8 oval hd. (Grade 
909 SCREW, No.1 0-24 X 1-1/4 Pozidriv pan 2 steel) 

hd. (w/lockpatch)(Grade 2 steel) 2417 SCREW, 1/4-28 X 5/8 Pozidriv truss hd. 
919 SCREW, 1/4-28 X 3/4 socket hd. (Grade 2 steel) 
920 SCREW, 5/16-24 X 7/8 knurled socket 2420 SCREW, 1/4-20 X 3/4 Pozidriv truss hd. 

hd.(w/lockpatch) (Grade 2 steel) 
922 SCREW, No. 6-32 X 3/4 Phillips hd. 2430 SCREW, No. 12-24 X 7/8 knurled socket 

(black) hd. 
923 SCREW, 1/4-20 X 21/32 socket pan hd. 2432 SCREW, No. 12-24X 7/8 Phillips truss hd. 
924 SCREW, 1/4-20 X 33/64 socket pan hd. (black) 
925 SCREW, 1/4-28 X 5/8 socket button hd. 2501 SCREW, No. 8-32 X 3/8 socket hd. (self-
927A SCREW, 1/4-20 X 3/4 button hd. (grade tapping) 

8 steel) 2504 SCREW, No.1 0-16 X 1-1/8 Pozidriv oval 
932 SCREW, 1/4-20 X 1/2 truss hd. (chrome) ctsk. hd. (self-tapping) 
933 SCREW, No.1 0-32 X 15/16 Pozidriv truss 2507 SCREW, No. 6-32 X 7116 Pozidriv pan 

hd. (Grade 2 steel) hd. (Grade 2 steel) 

939 SCREW, 1/4-20 Xl w/washer (Grade 2 2508 SCREW, No. 10-32 X 1/2 socket rd. hd. 
steel) (self tapping) (black) 

1000 SCREW, 1/4-20 X 5/16 pan hd. (Grade 2 2511 SCREW, No. 10-24X 7/16 pan hd. (self-
steel) (Chrome) tapping) 

1040 SCREW, No. 8-32 X 1/4 fillister hd. 2513 SCREW, 1/4-20 X 1-1/4 socket rd. hd. 
(black) 

314 



HARDWARE llSTllNG 

2519 SCREW, 1/4-20 X 1-1/2 Socket button 2648 SCREW, 1/4-20 X 1 Pozidriv truss hd. 
hd. (black) (Grade 2 steel) 

2523 SCREW, No. 8-32 X 1/2 hex washer hd. 2652 SCREW, No.1 0-16 X 3/8 hex. washer hd. 

./ 
(self-tapping) (self-tappi ng) 

2530 SCREW, No. 4-40 X 3/8 pan hd. 2661W SCREW, No .. 10-24 X 1/2 Phillips rd. hd. 
2531 SCREW, No. 4-40 X 5/16 Pozidriv pan (self-tapping) 

hd. (Grade 2 steel) 2662W SCREW, No.1 0-24 X 3/8 Phillips rd. hd. 
2537 SCREW, 1/4-20 X 1/2 hex. (Grade 1 steel) (self-tapping) 
2538 SCREW, 1/4-20 X 1 Pozidriv pan hd. 2664 SCREW, No. 10-24X 7/16 Pozidriv pan 

(Grade 2 steel) hd. (Grade 2 steel) 
2551W BOLT, 1/4-20 X 1 hex. hd. (Grade 5 steel) 2665 SCREW, No.1 0-24 X 5/8 Pozidriv pan 
2568 SCREW, No. 12-24 X 3/4 round hd. hd. (Grade 2 steel) 

(wood) 2667 BOLT, 5/16-18 X 2 hex. hd. (Grade 5 
2574WA SCREW, No. 6-32 X 1/4 oval hd.(wl steel) 

lockwasher) 2682 SCREW, No.1 0-32 X 3/8 Phillips truss hd. 
2576 SCREW, No.1 0-32 X 3/4 Pan Hd.(Grade (stainless steel) 

/ 2 steel) 2692WA SCREW, No.1 0-24 X 1/2 socket fillis. hd. 
2579 SCREW, No. 8-32 X 5/8 Pozidriv oval 2698A SCREW, 5/16-18 X 9/16 socket fillis. hd. 

ctsk. hd. (Grade 2 steel) 2708A SCREW,5/16-18X 1 sockethd. 
2581 SCREW, No.1 0-24 X 1-5/8 Pozidriv pan 2710C SCREW, No. 4-40 X 3/8 Phillips oval ctsk. 

hd. (Grade 2 steel) hd. (chrome) 
2582 SCREW, 5/16-18 X 3/4 Pozidriv pan hd. 2711 SCREW, No. 4-40 X 3/8 pan hd. (self-

(Grade 2 steel) tapping) 
2583 SCREW, No.1 0-32 X 5/16 Pozidriv pan 2712 SCREW,.No. 10-24 X 9/16 Torx drive 

hd. (Grade 2 steel) (w!lockpatch) 
2585 SCREW, No. 8-32 X 5/16 Pozidriv pan 2718 BOLT, 1/4-20 X 1-5/8 hex. hd. (Grade 5 

hd. (Grade 2 steel) steel) 
2587 SCREW, No. 10-32 X 1/4 Pozidriv pan 2720 SCREW, no. 10-24 X 1 Torx hd. (wI 

/ hd. (Grade 2 steel) locking adhesive) 
2589 SCREW, No. 6-32 X 1/4 Phillips pan hd. 2724 SCREW, No.1 0-16 X 1/2 (Grade 2 steel) 

(Grade 2 steel) (chrome) 
2592 SCREW, No.1 0-24 X 1/2 Pozidriv pan 2725 SCREW, No. 12-24 X 5/8 phillips rd. hd. 

hd. (Grade 2 steel) 2726 SCREW, No. 12-24 X 21/32 Phillips truss 
2594A SCREW, No. 8-32 X 1/4 Pozidriv pan hd. hd. (chrome) 

(w/lockwasher)(Grade 2 steel) 2731W SCREW, No.1 0 X 3/8 Phillips truss hd. 
2599 SCREW, 1/4-20 X 1-3/4 Pozidriv pan hd. (self-tapping) 

(Grade 2 steel) 2733 SCREW, 1/4-28 X 1/2 slotted rd. hd. 
2602 SCREW, 1/4-20 X 1-1/4 Pozidriv pan hd. (wll ockwasher)(ch rome) 

(Grade 2 steel) 2737 SCREW, No. 4-40 X 1/4 Pozidriv pan hd. 
2604 SCREW, No.1 0-32 X 1/2 Pozidriv pan (Grade 2 steel) 

/ 
hd. (Grade 2 steel) 2739 SCREW, 1/4-28 X 1/2 Phillips truss hd. 

2607 SCREW, 1/4-20 X 3/4 Pozidriv pan hd. (wllockwasher)(chrome) 
(Grade 2 steel) 2757W SCREW, 1/4-28 X 7/16 Phillips truss hd. 

2611B BOLT, No. 10-32 X 3/4 hex. washer hd. (w!lockwasher)(chrome) 
(Grade 5 steel) 2770W SCREW, 1/4-20 X 3/4 hex. hd. (self-

2614 BOLT, 1/4-28 X 2 hex. hd. (Grade 5 steel) tapping) 
2623W SCREW, No. 8-15 X 5/8 pan hd. (self- 2773 SCREW, 1/4-20 X 1/2 Pozidriv pan hd. 

tapping)(Grade 1 steel) (Grade 2 steel) 
2625 SCREW, No. 8-32 X 5/8 Pozidriv pan hd. 2774 SCREW, 1/4-20 X 5/8 Pozidriv pan hd. 

(Grade 2 steel) (Grade 2 steel) 
2630W SCREW, No. 8-32 X 5/16 rd. hd. (self- 2779 SCREW, No. 6-32 X 15/16 pan hd. (self-

tapping) tapping) 
2646 SCREW, No. 8-32 X 3/4 Pozidriv pan hd. 2784 SCREW, 5/16-18 X 7/8 Pozidriv truss hd. 

; 
(Grade 2 steel) (Grade 2 steel) 

,/ 2647 SCREW, No.1 0-24 X 3/4 socket hd. 2787 SCREW, 5mm-.8 pt. X 1 Omm pan hd. 
(Grade 2 steel) 

315 



HARDWARE LISTIN(j 

2790A BOL T, 5/16-18 X 7/8 hex. hd. 3409 BOL T, 5/16-24 X 3-1/2 hex. hd. (Grade 5 
(w/lockpatch)(Grade 5 steel) stE'el) 

2796W SCREW, 1/4-20 X 1-1/2 hex. slot hd. 3415 BOLT, 5/16 -24X 1 hex. hd. 
(w/lockpatch) (w(lockpatch)(Grade 5 steel) 

2804W SCREW, No. 6-32 X 1/2 Pozidriv pan hd. 3419 BOLT, 5/16-18 X 2-1/4 hex. hd. (Grade 5 
2806 SCREW, No. 6-32 X 3/4 Pozidriv pan hd. ste·el) 

(Grade 2 steel) 3427 BOLT, 5/16-18 X 3-1/2 hex. hd. (Grade 5 
2818 BOLT, 5/16-18 X 1-1/2 hex. hd. (Grade 5 ste·el) 

steel) 3429 BOLT, 1/4-20 X 2-3/4 hex. hd. (Grade 5 
2823 SCREW, 5/16-24 X 3/8 Pozidriv truss hd. steel) 

(w/lockwasher)(Grade 2 steel) 3430 BOLT, 5/16-24 X 5 hex. hd. (Grade 5 
2824W SCREW, 5/16-24 X 9/16 Phi II i ps hd. steel) 
2831 SCREW, No. 6-32 X 3/8 Pozidriv truss hd. 3440 BOLT, 3/8-16 X 1/2 hex. hd. (Grade 5 

(Grade 2 steel) steel) 
2841W SCREW, 1/4-28 X 1-7/32 Phillips hd. 3441 SCREW, 1/4-20 X 3/4 socket fillis. 
2851 BOLT, 3/8-16 X 7/8 hex. hd. (Grade 5 hd . (w/l ockpatch) 

steel) 3444A SCiREW, 1/4-20 X 5/8 socket fillis. 
2871W BOL T, 5/16-18 X 1-1/4 hex. hd. (Grade 5 hd. (w/l ockpatch) 

steel) 3445 BOLT, 5/16-18 X 9/16 hex. hd. 
2872W BOLT, 1/4-20 X 1-1/2 hex. hd. (Grade 5 (w/lockpatch)(Grade 5 steel) 

steel) 3450 BOLT, 1/2-13 X 2-1/2 hex. hd. (Grade 5 
2879W BOLT, 3/8-16 X 1 hex. hd. (Grade 5 steel) steel) 
2881W BOLT, 1/4-20 X 2 hex. hd. (Grade 5 steel) 3461 BOLT, 3/8-16 X 1-5/8 hex. hd. (Grade 8 
2882W BOL T, 5/16-18 X 5/8 hex. hd. (Grade 5 steel) 

steel) 3462 BOLT, 5/16-18 X 1-1/4 hex. hd. (Grade 8 
2887W BOLT, 5/16-18 X 1-3/4 hex. hd. (Grade 5 steel) 

steel) 3471 BOLT,1/2-13X2-3/4(Grade5steel) 
2888 SCREW, No. 8-32 X 1/2 Pozidriv truss hd. 3473 BOLT, No. 10-32 X 112 hex. washer hd. 

(Grade 2 steel) Grade 2 steel) 
2889 BOLT, 3/8-24 X 3(4 hex. hd. (Grade 5 3479 SCI~EW, 1/4-20 X 2-1/4 knurled socket 

steel) hd. 
2896 SCREW, 3/8-16 X 7/8 button hd. (self- 3480A SCREW, 1/4-20 X 1-3/4 (Grade 8 steel) 

locking) 3481 SCI~EW, 1/4-20 X 1-1/2 knurled socket 
2904A SCREW, 3/8-24 X 3/4 socket hd. hd. 
2906 BOLT, 3/8-16 X 7(8 hex. hd 3484 BOLT, 5/16-18 X 1/2 hex. hd. 

(w/lockpatch)(Grade 5 steel) (wllockpatch)(Grade 5 steel) 
2907 SCREW, M3 X .05 X 8mm cross recess 3485A SCI~EW, 5/16-18 X 1-3/4 socket hd. 

pan hd. (self-tapping) 3486 BOLT, 1/2-20 X 1-1/4 hex. hd. 
2908 SCREW, M3 X .05 X 12mm cross recess 3487 BOLT, 5/16-24 X 5/8 hex. locking hd. 

pan hd. (self-tapping) 3494A BOLT, 5/16-18 X 7/8 hex. hd. 
2909 SCREW, M3 X .05 X 25mm cross recess 3500 BOLT, 5/16-18 X 2-3/4 hex. hd.(Grade 8 

pan hd. (self-tapping) steel) 
2910 SCREW, M3 X 1.058 X 8mm cross recess 3501 BOLT, 5/16-18 X 2-1/2 hex. hd.(Grade 8 

pan hd. (self-tapping) steel) 
2911 SCREW, M3 X .5 x 20mm pan hd. 3503 BOLT, 5/16-24 X 2 hex. hd.(Grade 8 
2913 SCREW, 3/8-16 X 1 hex hd. (L.H. thd.) steel) 
2914 SCREW, 3/8-16 X 7/8 hex hd. (L.H. thd.) 3504 BOLT, 5/16-24 X 5-3/8 hex. hd.(Grade 5 
3201WA SCREW, 5/16-18 X 1-1/4 knurled soc. hd. steel) 
3210A SCREW, 5/16-18 X 1-1/4 knurled soc. hd. 3506 STU D, 5/16-24 X 5-3/4 hex. hd.(Grade 5 
3214 SCREW, 3/8-16 X 1-1/4 socket hd. (thd. steel) 

cutting) 3509 BOLT, 3/8-16 X 2-3/4 hex. hd.(Grade 8 
3221 SCREW, No. 4-16X 3/16 set screw steel) 

(Grade 8 steel) 3512 BOLT, 3/8-24 X 3-1/4 hex. hd. (chrome) 
3233 SET SCREW, 1/4-28 X 1/4 socket hd. 3513 BOL T, 3/8-24 X 3-1/2 hex. hd. 
3234W SET SCREW, 1/4-20 X 5/16 slot hd. 3514 SCI~EW, No. 8-32 X 1 Filister hd. 
3403 LOCKNUT, M8 X 7 X 12mm hex. 

316 



HARDWARE LISTING 

3516A SCREW, 1/2-20 X 1-1/4 knurled socket 3660 SCREW, 5/16-18 X 3/4 Torx drive pan 
hd. hd.(w/lockpatch)(SAE J429 Grade B 

3517 BOLT, No.1 0-32 X 1/2 hex. washer hd. steel) 

/ (black) 3603 BOLT, 1/2-13 X 1-112 socket (Grade 8 
3523 SCREW, No. 6-32 X 5/8 Pozidriv pan hd. steel) 
3524 SCREW, No. 6-32 X 3/4 Pozidriv pan hd. 3730A BOLT, 7/16-14 X 1-3/4 hex. (Grade 8 
3528 BOLT, 3/8-16 X 3-1/4 hex hd.(Grade 8 steel) 

steel) 3738 BOL T, 1/4-28 X 1/2 hex. hd.(Grade 5 
3529 SCREW, No.1 0-32 X 1/4 slot hex washer steel) 

hd. (self-tapping) 3764 BOLT, 7/16-14 X 2 hex. hd. (Grade 5 
3531 SCREW, 5/16-18 X 3/8 knurled socket steel) 

hd. 3765 BOLT, 1/4-28 X 5/8 hex. hd.(Grade 5 
3533 SCREW, 5/16-24 X 3/8 socket button hd. steel) 
3535 BOLT, 1/2-20 X 2 hex. hd.(chrome) 3766 SCREW, No.1 0-16 X 15/16 Phillips pan 
3536 BOLT, 3/8-16 X 1-1/4 hex hd.(Grade 8 hd.(self-tapping)(black) 

.I 3537 
steel) 
SCREW, 1/4-28 X 1/2. flange lock 3767B BOLT, 1/4-20 X 5/8 hex. hd.(Grade 5 

3538 SCREW, 5/16-24 X 1/2 hex. socket steel) 
button hd. 3769 BOLT, 7/16-14X 1-1/2 hex. hd. (Grade 5 

3540 SCREW, 5/16-18 X 5/8 hex. soc. button steel) 
hd. 3770 SCREW, 1/4-20 X 7/8 12 pt. hd.(Grade 5 

3541 BOLT, No.1 0-24 X 5/8 hex. hd. (Grade 2 steel) 
steel) 3771 BOL T, 7/16-14 X 1-1/2 hex. hd. (Grade 5 

3545 BOLT, No.1 0-24 X 13/16 hex. washer steel )(wll ockpatch)( ch rome) 
hd(Grade 18-8 stainless steel) 3782 BOLT, 7/16-14 X 1-1/4 hex. hd. (Grade 5 

3546 BOLT, 5/16-18 X 5/8 hex. hd. (flange steel) 
lock) 3784 SET SCREW, 1/2-20 X 1/2 socket 

3549A SCREW, 1/2-20 X 1-1/2 knurled socket hd.(w/lockpatch) 
,/ hd. 3785 BOLT, 3/8-24 X 3/4 hex. hd. 

3554 BOLT, 3/8-16X 1-3/4 hex hd. (w/lockpatch)(Grade 5 steel) 
3556A SCREW, No.8-32 X 1/2 knurled socket 3787 BOLT, 1/4-20 X 3/4 hex. hd.(Grade 5 

hd. steel) 
3567 SCREW, 5/16-24 X 1 socket fillis. hd. 3802W BOLT, 1/4-20 X 7/8 hex. hd.(Grade 5 
3574 SCREW, 1/4-20 X 3/4 hex washer hd. steel) 
3576 SCREW, 5/16-18 X 112 hex washer hd. 3825 BOLT, 1/4-28 X 1 hex. hd.(Grade 5 steel) 
3579 SCREW, 1/2-13 X 5/8 (Grade 2 steel) (self 3826 BOLT, 1/4-28 X 1-1/4hex. hd.(Grade 5 

tapping) steel) 
3581 BOLT, No.1 0-24 X 3/8 hex. hd.(Grade 2 3945 BOLT, 3/8-24 X 2-1/4 hex. hd.(Grade 5 

steel) steel) 
3589 SCREW, 5/16-24 X 1-1/4 socket hd. 3946 BOLT, 7/16-20 X 2 hex. hd.(Grade 5 

/' (chrome) steel) 
3594A SCREW, 1/4-20 X 5/8 socket hd. (Grade 8 3949 BOLT, 1/2-13 X 2-1/2 hex. (Grade 5 steel) 

steel) 3950 BOLT, 1/2-20 X 4 hex. hd.(Grade 5 steel) 
3597 SCREW, No. 6-32 X 9/16 Torx pan 3953W BOLT, 5/16-24 X 1/2 hex. hd.(Grade 5 

hd.(thread cutting) steel) 
3598 SCREW, No. 6-32 X 3/4 Torx pan 3958 BOLT, 1/2-20 X 2-1/4 hex. hd.(Grade 5 

hd.(thread cutting) steel) 
3603 BOLT, 1/2-13 X 1-1/2 socket (Grade 8 3960W BOLT, 5/16-24 X 1 hex. hd.(Grade 5 

steel) steel) 
3651 SCREW, 1/4-20 X 1/4 socket rd. hd. 3973 BOLT, 1/2-20 X 1-1/4 hex. hd. 
3652 SCREW, 1/4-20 X 3/8 socket hd.(chrome) (drilled)(Grade 5 steel) 
3653 SCREW, 1/4-20 X 19/32 socket pan 3974HW BOLT, 5/16-24 X 3/4 hex. hd.(Grade 5 

hd.(chrome) steel) 
3655 SCREW, 5/16-18X 7/8 pan hd. 3987 BOLT, 5/16-18 X 3/4 hex. hd.(Grade 5 

./ steel) 

317 



HARDWARE LISTINCi 

3991 BOLT, 5/16-18 X 7/8 hex. hd.(Grade 5 4319 BOLT, 3/8-24 X 1 hex. hd.(Grade 5 steel) 
steel) 4325 BOLT, 114-20 X 5-1/2 hex hd.(Grade 8 

3993 BOLT, 1/4-20 X 1-1/4 hex. hd.(Grade 5 stE~el) 
steel) 4326A SCREW, 5/16-18 X 2 hex. soc. hd. 

3996 BOLT, 5/8-24 X 7/8 hex. hd.(Grade 5 4327 SCREW, 5/16-18X 2 hex. soc. hd. 
steel) 4337W BOLT, 3/8-24 X 1-1/4 hex. hd.(Grade 5 

3997 BOLT, 1/4-20 X 1-1/4 hex. hd. stE!el) 
4011 SCREW, 5/16-18 X 1-1/4 socket pan 4340A SCREW, 5/16-18 X 4-1/4 socket fillister. 

hd.(Grade 5 steel)(black) hdl. 
4013 SCREW, 3/8-16 X 7/8 socket pan 4350A SCREW, 3/8-16 X 1-1/2 hex. soc. hd. 

hd.(Grade 5 steel) 4355A SCREW, 3/8-16 X 1-3/4 knurled socket 
4014W BOLT, 5/16-24 X 1-1/4 hex. hd.(Grade 5 hd. 

steel) 4371W SCREW, 3/8-16 X 1-5/8 socket fillister. 
4015 SCREW, 1/4-20 X 7/8 socket rd. hd. 

hd.(black) 4382 SCREW, 5/16-24 X 3/4 hex. hd.(self-
4016 SCREW, 5/16-18X 7/8 socket rd. hd. tapping) 
4017 BOLT, 5/16-18X 1 hex. hd.(Grade 5 4383 SCREW, 5/16-18 X 5/8 washer (Grade 2 

steel) stE!el) 
4020W BOLT, 5/16-24 X 1-3/8 hex. hd.(Grade 5 4384 SCREW, 5/16-18 X 1 hex washer hd. 

steel) (sE!lf-threading) 
4028 BOLT, 3/4-16 X 2-1/2 hex.hd. 4391 BOL T, 5/16-24 X 5/8 hex. hd.(Grade 5 
4029A SCREW, 3/8-16 X 2-1/4 socket hd.(black) stE!el) 
4030 SCREW, 3/8-16 X 2-7/16 socket pan hd. 4401W BOLT, 3/8-24 X 2-3/4 hex. hd.(Grade 5 
4033 SCREW, 1/4-20 X 1-5/8 hex. soc. button stE!el) 

hd. 4411 BOLT, 3/8-24 X 1-3/4 hex. hd.(Grade 5 
4036 BOL T, 5/16-24 X 1-1/2 hex. hd.(Grade 5 stE!el) 

steel) 4412 BOL T, 3/8-24 X 2-1/2 hex. hd.(Grade 5 
4041W SCREW, 5/16-24 X 1-5/8 hex hd. stE!el) 
4044 SCREW, 3/8-16 X 1 socket button hd. 4416W BOLT, 3/8-24 X 1 hex. hd.(Grade 5 steel) 
4045 BOLT, 3/4-10 X 2-3/4 hex. (Grade 8 steel) 4435W BOLT, 3/8-24 X 3-1/2 hex. hd.(Grade 5 
4052 BOLT, 1/2-13 X 1-3/4 hex. (Grade 5 steel) stE!el) 
4053W BOLT, 5/16-24 X 2 hex. hd.(Grade 5 4453 BOLT, 1/4-20 X 7/8 hex. hd. 

steel) 4460 BOLT, 5/8-18 X 1 hex. hd.(Grade 5 steel) 
4061 BOLT, 5/16-18 X 5 hex. hd.(Grade 5 4701 BOLT, 5/16-24 X 1-1/2 hex. hd.(Grade 5 

steel) stE!el) 
4067 BOLT, 5/16-18 X 4-1/2 hex. hd.(Grade 5 4702A BOLT, 1/4-20 X 3/4 hex. (Grade 5 steel) 

steel) 4713W BOLT, 3/8-16 X 3/4 hex. hd.(Grade 5 
4068 BOLT, 5/16-18 X 1-7/8 hex. hd.(Grade 5 stE!el) 

steel) 4716W BOLT, 3/8-16 X 1-1/4 hex. hd.(Grade 5 
4069A SCREW, 1/4-20 X 3/4 knurled socket hd. stE!el) 
4070 SCREW, 5/16-24 X 2-1/4 socket 4717 SCREW, 1/4-20 X 2-1/4 knurled socket 

hd.(chrome) hd.(w/lockpatch) 
4074 BOLT, 1/2-13 X 2 hex. hd. shoulder 4718A SCREW, 1/4-20 X 1-1/2 knurled socket 
4079A BOLT, 1/2-13 X 2 hex. hd.(Grade 8 steel) hd.(w/lockpatch) 
4081 BOLT, 1/2-20 X 1-3/4 hex. hd. (Grade 5 4720W BOLT, 3/8-16 X 1-3/4 hex. hd.(Grade 5 

steel) stE'el) 
4086 BOLT, 5/16-18 X 3 hex. hd.(Grade 5 4721 BOLT, 3/8-16X 1-1/2 hex. hd.(Grade 5 

steel) stE'el) 
4091 BOLT, No. 10-24X 1/2 hex. washer 4722 BOL T, 3/8-16 X 2-1/4 hex. hd.(Grade 5 

hd.(self-tapping) stE'el) 
4094 SCREW, No.1 0-32 X 1 Pozidriv pan 4724 BOL T, 3/8-24 X 1-1/2 hex. hd.(Grade 5 

hd.(Grade 2 steel) stE'el) 
4095 SCREW, 5/16-24 X 7/16 socket hd. 4726 BOLT, 7/16-20 X 1-1/2 hex. hd.(Grade 5 

(w/lockpatch) stE'el) 
4100HW BOL T, 5/16-18 X 4 hex. hd.(Grade 5 4729 BOLT, 7/16-20 X 1-1/4 hex. hd.(Grade 5 

steel) ste'el) 

318 



HARDWARE LISTING 

4736 SCREW, 3/8-16 X 1-5/8 socket hd. 6057 WASHER, 1/2 X 7/8 X 3/16 (nylon) 
(drilled) 6099 WASHER, 1/4X7/16X 1/16 

4739 BOLT, 5/16-18X 1-3/4 hex. hd. tap 6107B WASHER, 5/16 X 11/16 X 118 

.",/ 4740A SCREW, 1/4-20 X 1-1/4 knurled socket 6109 WASHER, 5/16 X 11/16 X 118 
hd .(w/l ockpatch) 6113 WASHER, 1/2 X 13/16 X 1/32 

4741 SCREW, 1/4-20 X 1 hex. socket 6114 WASH ER, 9i32 X 5/8 X 1/32 
hd.(w/lockpatch) 6115 WASHER, 13/32 X 23/32 X 1/16 

4742A SCREW, 1/4-20 X 2-1/4 knurled socket 6127 WASHER, 13/32 X 13/16 X 5/64 
hd . (w/l ockpatch) 6150W WASHER, 3/16 X 3/8 X 1/16 

4800 SCREW, 1/4-20 X 1-1/8 socket pan 6182W WASHER, 3/16X 7/16X 1/32 
hd.(w/lockpatch)(Grade 8 steel) 6192 WASHER, No.8 X 7/16 X 3/64 

4809 SCREW, 5/16-18 X 1-3/8 socket 6220W WASHER, 1/4 X 7/16 X 1/32 
hd.(black) 6228W WASHER, 1/4 X 1/2 X 3/64 

4810 SCREW, 1/4-20 X 1-3/4 knurled socket 6229W WASHER, 5/16X 1-1/16X3/64 
hd. (w/l ockpatch) 6235 WASHER, 1/4 X 23/32 X 1116 

4812 SCREW, 1/4-20 X 3/4 knurled socket 6237 WASHER, 5/16X 1-1/8X 5/64 
/ hd.(w/lockpatch) 6239 WASHER, 1/4 X 1/2 X 3/32 

4813A SCREW, 1/4-20 X 1-3/8 knurled socket 6242W WASHER, 1/4 X 9/16 X 1/32 
hd . (w/l ockpatch) 6253W WASHER,1/4X3/4X3/64 

4814A SCREW, 1/4-20 X 1-1/8 knurled socket 6261 WASHER, 1/4 X 3/4 X 3/32(rubber) 
hd.(w/lockpatch) 6314W WASHER,21/64X9/16X 1/8 

4816A SCREW,5/16-18 X 1-1/2 socket hd. 6316HW WASHER, 5/16 X 5/8 X 1/16 
4820A SCREW, 1/4-20 X 2 hex. socket 6317 WASHER, 3/4 X 1-1/2 X 1/32(nylon) 
4822A SCREW, 1/4-20 X 2-3/4 knurled socket 6324W WASHER, 5/16 X 11116 X 1/16 

hd . (w/l ockpatch) 6332B WASHER, 5/16 X 15/16 X 3164 
4825A SCREW, 1/4-20 X 1-3/4 socket pan 6333 WASHER, 5/16 X 7/8 X 5/64 

hd.(w/lockpatch)(Grade 8 steel) 6334 WASHER, 7/16 X 29/32 X 1116 
4961 BOLT, 3/4-16 X 1-5/8 hex. hd.(Grade 5 6335 WASHER, No.4 X 5/16 X 1/32 

/ steel) 6336B WASHER, 5/16 X 15/16 X 3 16 
5209 SCREW, No. 12-16 X 5/8 Pozidriv pan 6340 WASHER, 13/16X 1-15/32X 1/8 

hd. 6341B WASHER, 5/16X 1-1/8X 3/64 
5403B CARRIAGE BOLT, 1/4-20 X 3/8 6353 WASHER, 3/8 X 13/16 X 1/16 (chrome) 
5411 SCREW, 5/16-18X 7/8 socket rd. 6365 WASHER, 17/32 X 1-1/8 X 5/64 

hd.(square neck)(Grade 5 steel) 6366 WASHER, 1/2 X 1-1/4 X 3/32 
5444 CARRIAGE BOLT,3/8-16X l(Grade 5 6375B WASHER, 3/8 X 9/16 X 1/32 

steel) 6379W WASH E R, 3/8 X 5/8 X 3/64 
5445W BOLT, 5/16 X 1-1/4 carriage bolt (Grade 6398 WASHER, 3/8 X 13/16 X 3/32(rubber) 

5 steel) 6400HB WASHER, 5/16 X 13/16 X 3/32 
5465 CARRIAGE BOLT, No.1 0-24 X 1/2 6410 WASHER, 1/4X9/16X 1/16(nylon) 
6002 WASHER, 5/16 X 5/8 X 1/16(black) 6416 WASHER, 3/8 X 1 X 5/64 

/ 6003 WASHER, 1-3/16 X 1-3/8 X 5/64 6448HB 13/32 X 13/16 X 3/32 
6007 WASHER, 5/8 X 5/16 X 3/32(nylon) 6474 WASHER, 3/8 X 13/16 X 5/32 
6012 WASHER, 1/2X 1-3/16X 1/16 6497HW WASHER, 7/16X 1-1/8X3/64 
6016 WASHER, 11/32X 11/16X 1/16 6506 WASHER, 1-13/32 X 2-3/32 X 1/16 
6019 WASHER, 3/8 X 29/32 X 1/16 (bronze) 
6029 WASHER, 5/32 X 3/8 X 1/32 6516HW WASHER, 15/16X 1-1/8X 1/8 
6035 WASHER, 1/4X 1-1/4X 1/8 (neoprene) 6530 WASHER, 1/2X 1 X3/16 
6036 WASHER, 17/64X 1 X 1116 6590HW WASHER, 1/2 X 1-1/8 X 3132 
6040 WASHER, 3/4 X 1-1/2 X 1/16 6639 WASH ER, 5/8 X 1-5/16 X 3132 (chrome) 
6047 WASHER, 5/8 X 13/64 X 3/64 6645 WASHER, 11/32 X 1-1/32 X 1/8 
6048W WASHER, 1/8 X 1/4 X 1/32 6653 WASHER, 5/8 X 1-5/16X3/32 
6053 WASHER, 3/16 X 7/16 X 1/16(nylon) 6655 WASHER, 5/8 X 1-1/2 X 3/32 

(black) 6700B WASHER, 5/8 X 13/16 X 1/32 
6054 WASHER, 3/16 X 9/16 X 1/16(nylon) 6701 WASHER, 3/8 X 13/16 X 1/16 

(black) 6702 WASHER, 5/16 X 11/16 X 1116 
6055 WASHER, 25/64 X 47/64 X 1/8(spring) 6703 WASHER, 1/4 X 5/8 X 1/16 

319 



HARDWARE LISTINC:; 

67128 WASHER, 5/8 X 15/16 X 3/32 7230 LOCKWASHER, 1/4 external tooth 
6716 WASHER, No.1 0 X 1/2 X 3/64 7232 LOCKWASHER, 5/16 external tooth 
6717 WASHER, NO.6 X 3/8 X 3/64 7234 LOCKWASHER, No.1 0 external tooth 
6718 WASHER, 1/2 X 1-1/16 X 3/32 7415A WASHER, 11/32 X 718 X 1/8{rubber) 
6723 WASHER, 17/32 X 1-1/2 X 9/64 7419 WASHER, 11/32 X 11/16 X 1/8{rubber) 
6724 WASHER,21/32X 1-1/16X 1/16 7501 SPEED NUT, 1/4 dia. stud size{self 
6734 WASHER, 19/64 X 41/64 X 5/64(black) threading) 
6736 WASHER, 9/32 X 5/8 X 1/16 7506 NUT, No. 4-48 X 3/32 X 1/4 hex.(Grade 2 
6737 WASHER, 57/64 X 1-3/64X 1/32 st,eel) 
6738 WASHER, 17/32 X 7/8 X 7/64 7507 ACORN NUT, 5/16-18X 11/16X 1/2 
6753 WASHER, 1/2 X 1-1/4 X 1/8 (notched) hE!x.(Grade 2 steel)(chrome) 
6756 WASHER, 1/2 X 1-1/16 X 3/32 7510 CLIP NUT, 1/4-28 
6758 WASHER, 3/8 X 37/64 X 7/64 7513 ACORN NUT, 5/16-24 X 19/32 X 1/2 hex. 
6759 WASHER, 3/16 X 3/8 X 1/32(nylon) 7515 JAM NUT, 7/16 X 1/4 X 11116(Grade 2 
67628 WASHER, 11/16 X 29/32 X 1/32 st1eel) 
6771 WASHER, 21/64X 33/64 X 1/16 7520 ACORN NUT, No. 6-32 X 1/4 X 1/4 
6774 WASHER, 3/8 X 5/8 X 3/64 hE!x.(nylon) 
6781 WASHER, 5/16 X 37/64 X 5/64 7531 LOCKNUT, 5/16-18 X 9/32 X 1/2 hex. 
6960 WASHER, 1/2 X 3/4 X .004 7549 ACORN NUT, 5/16-18 X 9/16 X 1/2 hex. 
6961 WASHER, 1/2 X 3/4 X .007 7561 NUT, 7/16-20 X 7/16 X 11/16 hex. 
6962 WASHER, 112 X 3/4 X .015 7569 NUT, M6 X 1 Omm hex (keps) 
6963 WASHER, 1/2 X 3/4 X .031 7571 NUT, M6 X 7mm hex (keps) 
6969 LOCKWASHER, No.4 7576 FLANG E NUT, 3/8-16 X 9/16 hex (keps) 
7005 LOCKWASHER, 15/64(black) 7590 NUT, No. 6-32 X 1/8 X 5/16 hex.(Grade 2 
7010 LOCKWASHER, No.6 st4~el) 

7015 LOCKWASHER, NO.8 7594 LOCKNUT, 5/16-18 X 1/2 (nylon locking) 
7017 WASHER, 17/64 X 33/64 X 5/64(black) 7602 ACORN NUT, No.1 0-32 X 5/16 X 23/64 
7018 WASHER, 17/64 X 37/64 X 5/64(black) hE~x.(nylon-locki ng) 
7022 LOCKWASHER,5/8 7606 LOCKNUT, No. 8-32 X 1/4 X 1/4 
7030W LOCKWASHER, No. 12 hE~x.(chrome) 
7036 LOCKWASHER,1/4 7608 NUT, No. 8-32 X 1/8 X 11/32 hex.(Grade 
7038 LOCKWASHER,3/8 2 steel) 
7039 LOCKWASHER,7/16 7609W LOCKN UT, No. 8-32 X 3/16 X 5/16 hex. 
7041 LOCKWASHER,5/16 7613A SPEED NUT, 1/8 dia. stud size 
7042 LOCKWASHER, 5/16(high collar) 7620W NUT, No.1 0-24 X 1/8 X 3/8 hex.(Grade 2 
7043 LOCKWASHER,3/4 stE!el) 
7045 LOCKWASHER, 3/8{high collar) 7624 LOCKNUT, No.1 0-24 X 1/4 X 3/8 hex. 
7068 LOCKWASHER, 1/2 7626W LOCKN UT, No.1 0-32 X 3/16 X 3/8 hex. 
7069 LOCKWASHER, No. 10 7627 ACORN NUT, 1/2-13 X 3/4 hex (chrome) 
7100 LOCKWASHER, 5/16 internal/external 7629 NUT, No.1 0-32 X 3/8 hex (keps) 

tooth 
7101 LOCKWASHER, 3/8 internal/external 7634 NUT, No.1 0-32 X 1/8 X 5/16 hex.(brass) 

tooth 7635W NUT, No.1 0-32 X 13/32 X 318 hex. 
7112 LOCKWASHER, NO.6 internal tooth 7638 NUT, No. 10-32 X 1/8 X 3/8 hex.(Grade 2 
7115 LOCKWASHER, No.8 internal tooth stE!el) 
7118 LOCKWASHER, No.1 0 internal tooth 7643W JAM NUT, 3/8-16 X 7-32 X 9/16 hex. 
7124 LOCKWASHER, 1/4 internal tooth 7652 NUT, 3/4-16 X 1-1/8 hex.{chrome) 
7127 LOCKWASHER, 5/16 internal tooth 7651 ACORN NUT, No. 12-24 X 3/8 hex 
7129 LOCKWASHER, 1/2 internal tooth 7653 ACORN NUT, No. 12-24 X 7/16 X 3/8 
7130W LOCKWASHER, 3/8 internal tooth hex.(black) 
7142 LOCKWASHER, 3/4 internal tooth 7654W NUT, No. 12-24X 5/32 X 7/16 hex. 
7145W LOCKWASHER, 3/8 external tooth 7667 NUT, 3/8-16 X 9/32 X 9/16 hex. (w/nylon 
7150 LOCKWASHER, 7/8 internal tooth i n~;ert) 
7220 LOCKWASHER, No.1 0 external tooth 7676 NUT, 1/4-28 X 7/32 X 7/16 hex.(Grade 2 
7229W LOCKWASHER, 1/4 internal/external stE!el) 

tooth 7669 TEE NUT, 5/16-18 

320 



HARDWARE LISTING 

7680W ACORN NUT, 3/8-16 X 25/32 X 9/16 hex. 7783 NUT, 3/8-16 X 5/16 X 9/16 hex.(Grade 2 
(Grade 2 steel)(chrome) steel) 

7682 LOCKNUT, 1/4-28 X 3/16 X 7/16 hex. 7792 NUT, 1/4,-20 X 1/4 hex. (Grade 2 steel) 
7683 LOCKNUT, 114-28 X 5/16 X 7/16 hex. 7796 NUT, 5/16-18 X 1/4 hex. (Grade 2 steel) 
7686 LOCKNUT, 1/4-20 X 5/16 X 7/16 hex. 7800W NUT, 3/8-24 X 5/16 X 9/16 hex.(Grade 2 
7688 NUT, 1/4-20 X 7/32 X 7/16 hex.(Grade 2 steel) 

steel) 7812W LOCKNUT, 1/2-20 X 5/16 X 3/4 hex. 
7689W JAM NUT, 1/4-20 X 5/32 X 7/16 hex. 7813 NUT, 5/8-18 X 9/16 X 15/16 hex.(Grade 2 

(Grade 2 steel) steel) 
7715 LOCKNUT, 5/16-18X 17/64 X 1/2 hex. 7823 CASTLE NUT, 5/8-18 X 3/8 X 15/16 hex. 
7716 NUT, 1/4-20 X 7/16 hex (Grade 2 steel) 
7725 LOCKNUT, 5/16-24 X 11/32 X 112 hex. 7824 LOCKNUT, 1/2-20 X 1/4 hex. (Grade 2 
7727 LOCKNUT, 5/16-24 X 1/4 X 1/2 hex. steel) 
7729 LOCKNUT, 5/16-24 X 1/4 X 1/2 hex. 7825 LOCKNUT, 7/16-20 X 7/16 X 5/8 hex. 
7734W CASTLE NUT, 1/2-20 X 9/16 X 3/4 hex. 7837W NUT, 7/16-20 X 3/8 X 11/16 hex.(Grade 2 

(Grade 5 steel) steel) 
7736 ACORN NUT, 5/16-24 X 19/32 X 112 hex. 7844 LOCKNUT, 1/2-13 X 5/16 X 3/4 hex. 

(Grade 2 steel)(chrome) 
7737W ACORN NUT, 1/4-20 X 15/32 X 7116 hex. 7845 NUT, 1/2-20 X 7/16 X 3/4 hex.(Grade 2 

(Grade 2 steel) steel) 
7739 LOCKNUT, 5/16-18 X 11/32 X 1/2 hex. 7848W JAM NUT, 7/16-20 X 1/4 X 11/16 hex. 
7740 LOCKNUT, 5/16-18X 1/4X 1/2 hex. (Grade 2 steel) 
7741 LOCKNUT, 1/2-20 X 1/2 X 3/4 hex. 7855W JAM NUT, 3/4-16 X 7/16 X 1-1/8 hex. 
7742 LOCKNUT, 1/4-20 X 7/32 X 7/16 hex. (Grade 2 steel) 
7743 SPEED NUT, for 1/4-20 bolt 7880 NUT, 1/2-13 X 7/16 X 3/4 hex.(Grade 2 
7744 JAM NUT, 5/16-24 X 3/16 X 1/2 hex. steel) 

(Grade 2 steel) 7986 NUT, 5/8-18 X 5/8 X 1-1/16 hex.(Grade 5 
7748W NUT, 5/16-18 X 1/4 X 1/2 hex.(Grade 2 steel) 

steel) 7987 CASTLE NUT 5/8-18 X 15/16 hex 
7752 SPEED NUT, for 5/16-18 screw 7993 LOCKNUT, 5/8-18 X 15/16hex. 
7753 NUT, 5/16-24 X 1/4 X 1/2 hex.(Grade 2 7994 LOCKNUT, 5/8-18X 15/16 hex 

steel) 8101 SPEED NUT, for 5/16-18 bolt 
7763W JAM NUT,5/16-18X3/16X 1/2 8102 SPEED NUT, for 5/16-18 screw 
7768W LOCKNUT, 1/2-13 X 19/32 X 314 hex. 8107 SPEED NUT, for No. 10-A or Z thread 
7772 LOCKNUT, 5/16-24 X 3/8 Fllster (Grade 2 screws 

steel) 8108 SPEED NUT, 11/32 dia. 
7775 LOCKNUT, 3/8-24 X 7/16 X 9/16 hex. 8125 SPEED NUT, for 8-32 bolt 
7776W LOCKNUT, 3/8-24 X 9/32 X 9/16 hex. 8126 SPEED NUT, 3/16 dia. stud size 

8131W LOCKNUT, No. 4-40 X 1/8 X 1/4 hex. 
7778 LOCKNUT, 3/8-16 X 7/16 X 9/16 hex. 8135B SPEED NUT, 1/4 dia. stud size 

./ 7780 LOCKNUT, 3/8-24 X 13/32 X 11/16 hex. 8151 SPEED NUT, for No. 10-32 screw 
7782 LOCKNUT, 3/8-24 X 3/8 X 9/16 hex. 8155 SPEED NUT, for No. 8-32 screw 

(Grade 8 steel) 

321 


